

## EXTENDED STIRLING POLYNOMIALS OF THE SECOND KIND AND EXTENDED BELL POLYNOMIALS

TAEKYUN KIM, DAE SAN KIM, AND GWAN-WOO JANG

ABSTRACT. Recently, several authors have studied the Stirling numbers of the second kind and Bell polynomials. In this paper, we study the extended Stirling polynomials of the second kind and the extended Bell polynomials associated with the Stirling numbers of the second kind. In addition, we note that the extended Bell polynomials can be expressed in terms of the moments of the Poisson random variable with parameter  $\lambda > 0$ .

### 1. Introduction

As is well known, the Stirling numbers of the second kind are defined as

$$x^n = \sum_{l=0}^n S_2(n, l)(x)_l \quad (n \geq 0), \quad (\text{see [1 – 16]}). \quad (1.1)$$

The generating function of  $S_2(n, l)$  is given by

$$\frac{1}{m!}(e^t - 1)^m = \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!}, \quad (1.2)$$

where  $m \in \mathbb{N} \cup \{0\}$ , (see [2,7,8]).

The Stirling polynomials of the second kind are defined by the generating function

$$\frac{1}{k!}e^{xt}(e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k|x) \frac{t^n}{n!}, \quad (1.3)$$

where  $k \geq 0$ , (see [3,5,14]).

---

2010 *Mathematics Subject Classification.* 11B73; 11B83.

*Key words and phrases.* Extended Stirling polynomials of the second kind, extended Bell polynomials.

From (1.2) and (1.3), we note that

$$\begin{aligned} S_2(n, k|x) &= \sum_{l=k}^n \binom{n}{l} S_2(l, k) x^{n-l} \\ &= \sum_{l=0}^{n-k} \binom{n}{l} S_2(n-l, k) x^l, \end{aligned} \quad (1.4)$$

where  $n, k \geq 0$ , (see [3,4,5,14]).

The Bell polynomials are defined by the generating function

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!}, \quad (\text{see [7, 8, 9]}). \quad (1.5)$$

When  $x = 1$ ,  $Bel_n(1) = Bel_n$ , ( $n \geq 0$ ), are called the Bell numbers.

From (1.2) and (1.5), we note that

$$\begin{aligned} e^{x(e^t-1)} &= \sum_{m=0}^{\infty} x^m \frac{1}{m!} (e^t - 1)^m \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n S_2(n, m) x^m \right) \frac{t^n}{n!}. \end{aligned} \quad (1.6)$$

Thus, by (1.6), we get

$$Bel_n(x) = \sum_{m=0}^n S_2(n, m) x^m, \quad (n \geq 0).$$

A random variable  $X$ , taking on one of the values  $0, 1, 2, \dots$ , is said to be a Poisson random variable with parameter  $\lambda > 0$  if  $P(i) = P(X = i) = e^{-\lambda} \frac{\lambda^i}{i!}$ ,  $i = 0, 1, 2, \dots$ . Note that  $\sum_{i=0}^{\infty} P(i) = e^{-\lambda} \sum_{i=0}^{\infty} \frac{\lambda^i}{i!} = e^{-\lambda} \cdot e^{\lambda} = 1$ .

The expectation of a Poisson random variable with parameter  $\lambda$  is given by

$$E[X] = \sum_{i=0}^{\infty} iP(i) = \sum_{i=0}^{\infty} i e^{-\lambda} \frac{\lambda^i}{i!} = \lambda. \quad (1.7)$$

The moments of Poisson random variable  $X$  with parameter  $\lambda > 0$  is defined by

$$E[X^n] = \sum_{x=0}^{\infty} x^n P(x) = e^{-\lambda} \sum_{x=0}^{\infty} x^n \frac{\lambda^x}{x!}, \quad (1.8)$$

where  $n \in \mathbb{N}$  (see [15]).

When  $n = 1$ , the first moment  $E[X]$  is the mean (or expectation) of  $X$  with parameter  $\lambda > 0$ . Recently, several authors have studied the Stirling numbers of the second kind and Bell polynomials (see [5-16]).

In this paper, we consider the extended Stirling polynomials of the second kind and the extended Bell polynomials associated with the Stirling numbers of the second kind. Then we give some identities between the extended Stirling numbers of the second kind and the extended Bell polynomials. From our new identities and properties of those numbers and polynomials, we note that the extended Bell polynomials can be expressed in terms of the moments of the Poisson random variable with parameter  $\lambda > 0$ .

**2. Extended Stirling polynomials of the second kind and extended Bell polynomials**

For  $k > 0$ , we define the extended Stirling polynomials of the second kind given by the generating function

$$\frac{1}{k!} e^{xt} (e^t - 1 + rt)^k = \sum_{n=k}^{\infty} S_{2,r}(n, k|x) \frac{t^n}{n!}, \tag{2.1}$$

where  $x, r \in \mathbb{R}$ .

When  $x = 0$ ,  $S_{2,r}(n, k|0) = S_{2,r}(n, k)$ , ( $n, k \geq 0$ ), are called the extended Stirling numbers of the second kind. Note that  $S_{2,0}(n, k) = S_2(n, k)$  are the Stirling numbers of the second kind.

It is easy to show that

$$\frac{1}{k!} e^{xt} (e^t - 1 + rt)^k = \sum_{n=k}^{\infty} \left( \sum_{m=k}^n \binom{n}{m} S_{2,r}(m, k) x^{n-m} \right) \frac{t^n}{n!}. \tag{2.2}$$

By (2.1) and (2.2), we get

$$S_{2,r}(n, k|x) = \sum_{m=k}^n \binom{n}{m} S_{2,r}(m, k) x^{n-m}, \tag{2.3}$$

where  $n, k \geq 0$  and  $r, x \in \mathbb{R}$ .

We observe that

$$\sum_{k=0}^{\infty} \frac{1}{k!} (e^t - 1 + rt)^k = \sum_{n=0}^{\infty} \left( \sum_{k=0}^n S_{2,r}(n, k) \right) \frac{t^n}{n!}, \tag{2.4}$$

and

$$\sum_{k=0}^{\infty} \frac{1}{k!} (e^t - 1 + rt)^k = e^{e^t - 1 + rt}. \tag{2.5}$$

In view of (1.5), we can define the extended Bell numbers which are given by the generating function

$$e^{e^t - 1 + rt} = \sum_{n=0}^{\infty} Bel_{n,r} \frac{t^n}{n!}, \tag{2.6}$$

From (2.4) and (2.6), we have

$$Bel_{n,r} = \sum_{k=0}^n S_{2,r}(n, k), \quad (n \geq 0). \quad (2.7)$$

Note that  $Bel_{n,0} = \sum_{k=0}^n S_{2,0}(n, k) = \sum_{k=0}^n S_2(n, k)$ . Now, we define the extended Bell polynomials given by the generating function as follows:

$$e^{\lambda(e^t - 1 + rt)} = \sum_{n=0}^{\infty} Bel_{n,r}(\lambda) \frac{t^n}{n!}, \quad (2.8)$$

where  $\lambda, r \in \mathbb{R}$ .

From (2.8), we note that

$$\begin{aligned} e^{\lambda(e^t - 1 + rt)} &= \sum_{m=0}^{\infty} \lambda^m \frac{1}{m!} (e^t - 1 + rt)^m \\ &= \sum_{m=0}^{\infty} \lambda^m \sum_{n=m}^{\infty} S_{2,r}(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \lambda^m S_{2,r}(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.9)$$

Therefore, we obtain the following theorem.

**Theorem 2.1.** For  $n \geq 0$ , we have

$$Bel_{n,r}(\lambda) = \sum_{m=0}^n \lambda^m S_{2,r}(n, m),$$

and

$$S_{2,r}(n, m|x) = \sum_{k=m}^n \binom{n}{k} S_{2,r}(k, m) x^{n-k},$$

where  $n, m \geq 0$  and  $r \in \mathbb{R}$ .

From (1.1), we note that

$$\begin{aligned}
 \sum_{n=k}^{\infty} S_{2,r}(n, k) \frac{t^n}{n!} &= \frac{1}{k!} (e^t - 1 + rt)^k = \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} r^l t^l (e^t - 1)^{k-l} \\
 &= \frac{1}{k!} \sum_{l=0}^k \frac{k!}{l!(k-l)!} r^l t^l (e^t - 1)^{k-l} \\
 &= \sum_{l=0}^k \frac{r^l}{l!} t^l \sum_{n=k}^{\infty} S_2(n-l, k-l) \frac{t^{n-l}}{(n-l)!} \\
 &= \sum_{n=k}^{\infty} \left( \sum_{l=0}^k \binom{n}{l} r^l S_2(n-l, k-l) \right) \frac{t^n}{n!}.
 \end{aligned} \tag{2.10}$$

Thus, by comparing the coefficients on both sides of (2.10), we obtain the following theorem.

**Theorem 2.2.** *For  $n, k \geq 0$ , we have*

$$S_{2,r}(n, k) = \sum_{l=0}^k \binom{n}{l} r^l S_2(n-l, k-l).$$

It is not difficult to show that

$$e^{e^t - 1 + rt} = \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} Bel_l r^{n-l} \right) \frac{t^n}{n!}. \tag{2.11}$$

Thus, by (2.6) and (2.11), we easily get

$$Bel_{n,r} = \sum_{k=0}^n S_{2,r}(n, k) = \sum_{k=0}^n \binom{n}{k} Bel_k r^{n-k}, \tag{2.12}$$

where  $r \in \mathbb{R}$  and  $n \in \mathbb{N} \cup \{0\}$ .

From (2.12), we have

$$Bel_{n,r} = \sum_{l=0}^n \binom{n}{l} Bel_{n-l} r^l = \sum_{k=0}^n \left( \sum_{l=0}^k \binom{n}{l} r^l S_2(n-l, k-l) \right).$$

By (1.2), we get

$$\begin{aligned}
\sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} &= \frac{1}{m!} (e^t - 1)^m = \frac{1}{m!} (e^t - 1 + rt - rt)^m \\
&= \frac{1}{m!} \sum_{l=0}^m \binom{m}{l} t^l (e^t - 1 + rt)^{m-l} (-1)^l r^l \\
&= \frac{1}{m!} \sum_{l=0}^m \frac{m! t^l (-1)^l r^l}{l! (m-l)!} (e^t - 1 + rt)^{m-l} \\
&= \sum_{l=0}^m \frac{r^l (-1)^l}{l!} t^l \sum_{n=m-l}^{\infty} S_{2,r}(n, m-l) \frac{t^n}{n!} \\
&= \sum_{n=m}^{\infty} \left( \sum_{l=0}^m S_{2,r}(n-l, m-l) \binom{n}{l} (-1)^l r^l \right) \frac{t^n}{n!},
\end{aligned} \tag{2.13}$$

where  $m \in \mathbb{N} \cup \{0\}$ . By comparing the coefficients on both sides of (2.13), we obtain the following theorem.

**Theorem 2.3.** For  $n \geq m \geq 0$  and  $r \in \mathbb{R}$ , we have

$$S_2(n, m) = \sum_{l=0}^m \binom{n}{l} (-1)^l r^l S_{2,r}(n-l, m-l)$$

Now, we consider the inversion formula of (2.13). From (2.1), we note that

$$\begin{aligned}
\frac{1}{k!} (e^t - 1 + rt)^k &= \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} r^l t^l (e^t - 1)^{k-l} \\
&= \frac{1}{k!} \sum_{l=0}^k r^l t^l \frac{k!}{l! (k-l)!} (e^t - 1)^{k-l} \\
&= \sum_{l=0}^k \frac{r^l}{l!} t^l \sum_{n=k-l}^{\infty} S_2(n, k-l) \frac{t^n}{n!} \\
&= \sum_{n=k}^{\infty} \left( \sum_{l=0}^k \binom{n}{l} r^l S_2(n-l, k-l) \right) \frac{t^n}{n!}.
\end{aligned} \tag{2.14}$$

Therefore, by (2.1) and (2.14), we obtain the following theorem.

**Theorem 2.4.** For  $n \geq k \geq 0$ , we have

$$S_{2,r}(n, k) = \sum_{l=0}^k \binom{n}{l} r^l S_2(n-l, k-l).$$

For  $m, n, k \in \mathbb{N}$ , we have

$$\begin{aligned} \frac{1}{m!}(e^t - 1 + rt)^m \frac{1}{k!}(e^t - 1 + rt)^k &= \frac{1}{m!k!}(e^t - 1 + rt)^{m+k} \\ &= \frac{(m+k)!}{m!k!} \frac{1}{(m+k)!}(e^t - 1 + rt)^{m+k} = \binom{m+k}{m} \sum_{n=m+k}^{\infty} S_{2,r}(n, m+k) \frac{t^n}{n!}. \end{aligned} \tag{2.15}$$

On the other hand,

$$\begin{aligned} &\frac{1}{m!}(e^t - 1 + rt)^m \frac{1}{k!}(e^t - 1 + rt)^k \\ &= \left( \sum_{l=m}^{\infty} S_{2,r}(l, m) \frac{t^l}{l!} \right) \left( \sum_{j=k}^{\infty} S_{2,r}(j, k) \frac{t^j}{j!} \right) \\ &= \sum_{n=k+m}^{\infty} \left( \sum_{l=m}^n \frac{n!}{l!(n-l)!} S_{2,r}(l, m) S_{2,r}(n-l, k) \right) \frac{t^n}{n!} \\ &= \sum_{n=k+m}^{\infty} \left( \sum_{l=m}^n \binom{n}{l} S_{2,r}(l, m) S_{2,r}(n-l, k) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.16}$$

Therefore, by (2.15) and (2.16), we obtain the following theorem.

**Theorem 2.5.** *For  $n, m, k \geq 0$  with  $n \geq m + k$ , we have*

$$\binom{m+k}{m} S_{2,r}(n, m+k) = \sum_{l=m}^n \binom{n}{l} S_{2,r}(l, m) S_{2,r}(n-l, k).$$

Now, we observe that

$$\begin{aligned} &\frac{1}{m!}(e^t - 1 + rt)^m \frac{1}{k!}(e^t - 1 + rt)^k \\ &= \left( \frac{1}{m!} \sum_{l=0}^m \binom{m}{l} (e^t - 1)^{m-l} r^l t^l \right) \left( \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} (e^t - 1)^{k-j} r^j t^j \right) \\ &= \left( \sum_{l=0}^m \frac{r^l t^l}{l!} \sum_{n_1=m}^{\infty} S_2(n_1 - l, m - l) \frac{t^{n_1-l}}{(n_1-l)!} \right) \\ &\quad \times \left( \sum_{j=0}^k \frac{r^j t^j}{j!} \sum_{n_2=k}^{\infty} S_2(n_2 - j, k - j) \frac{t^{n_2-j}}{(n_2-j)!} \right) \end{aligned}$$

$$\begin{aligned}
&= \left( \sum_{n_1=m}^{\infty} \left( \sum_{l=0}^m \binom{n_1}{l} r^l S_2(n_1-l, m-l) \right) \frac{t^{n_1}}{n_1!} \right) \\
&\quad \times \left( \sum_{n_2=k}^{\infty} \left( \sum_{j=0}^k \binom{n_2}{j} r^j S_2(n_2-j, k-j) \right) \frac{t^{n_2}}{n_2!} \right) \\
&= \sum_{n=m+k}^{\infty} \left\{ \sum_{n_1=m}^n \sum_{l=0}^m \sum_{j=0}^k \binom{n_1}{l} \binom{n-n_1}{j} r^{l+j} \binom{n}{n_1} \right. \\
&\quad \left. \times S_2(n_1-l, m-l) S_2(n-n_1-j, k-j) \right\} \frac{t^n}{n!}.
\end{aligned} \tag{2.17}$$

By (2.15) and (2.17), we get

$$\begin{aligned}
&\binom{m+k}{m} S_{2,r}(n, m+k) \\
&= \sum_{n_1=m}^n \sum_{l=0}^m \sum_{j=0}^k \binom{n_1}{l} \binom{n-n_1}{j} \binom{n}{n_1} r^{l+j} S_2(n_1-l, m-l) S_2(n-n_1-j, k-j).
\end{aligned} \tag{2.18}$$

With  $r = 0$  in (2.15), we have

$$\frac{1}{m!} (e^t - 1)^m \frac{1}{k!} (e^t - 1)^k = \binom{k+m}{m} \sum_{n=k+m}^{\infty} S_2(n, m+k) \frac{t^n}{n!}, \tag{2.19}$$

where  $n, m, k \geq 0$ . From (1.2) and (2.1), we have

$$\begin{aligned}
&\frac{1}{m!} (e^t - 1)^m \frac{1}{k!} (e^t - 1)^k = \frac{1}{m!} (e^t - 1 + rt - rt)^m \frac{1}{k!} (e^t - 1 + rt - rt)^k \\
&= \left( \frac{1}{m!} \sum_{l=0}^m \binom{m}{l} (e^t - 1 + rt)^{m-l} (-rt)^l \right) \left( \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} (e^t - 1 + rt)^{k-j} (-rt)^j \right) \\
&= \left( \sum_{l=0}^m \frac{(-1)^l r^l}{l!} t^l \sum_{n_1=m}^{\infty} S_{2,r}(n_1-l, m-l) \frac{t^{n_1-l}}{(n_1-l)!} \right) \\
&\quad \times \left( \sum_{j=0}^k \frac{(-1)^j r^j}{j!} t^j \sum_{n_2=k}^{\infty} S_{2,r}(n_2-j, k-j) \frac{t^{n_2-j}}{(n_2-j)!} \right)
\end{aligned}$$



$$\begin{aligned}
 &= \left( \sum_{n_1=m}^{\infty} \sum_{l=0}^m \binom{n_1}{l} (-1)^l r^l S_{2,r}(n_1 - l, m - l) \frac{t^{n_1}}{n_1!} \right) \\
 &\quad \times \left( \sum_{n_2=k}^{\infty} \sum_{j=0}^k \binom{n_2}{j} (-1)^j r^j S_{2,r}(n_2 - j, k - j) \frac{t^{n_2}}{n_2!} \right) \tag{2.20} \\
 &= \sum_{n=m+k}^{\infty} \left\{ \sum_{n_1=m}^n \sum_{l=0}^m \sum_{j=0}^k \binom{n_1}{l} \binom{n - n_1}{j} \binom{n}{n_1} (-1)^{l+j} r^{l+j} \right. \\
 &\quad \left. \times S_{2,r}(n_1 - l, m - l) S_{2,r}(n - n_1 - j, k - j) \right\} \frac{t^n}{n!}.
 \end{aligned}$$

Comparing the coefficients on both sides of (2.19) and (2.20), we have

$$\begin{aligned}
 &\binom{k+m}{m} S_2(n, m+k) \\
 &= \sum_{n_1=m}^n \sum_{l=0}^m \sum_{j=0}^k \binom{n_1}{l} \binom{n - n_1}{j} \binom{n}{n_1} (-1)^{l+j} r^{l+j} \tag{2.21} \\
 &\quad \times S_{2,r}(n_1 - l, m - l) S_{2,r}(n - n_1 - j, k - j),
 \end{aligned}$$

where  $n, m, k \geq 0$  with  $n \geq m + k$ .

### 3. Further Remarks

A random variable  $X$ , taking on one of the values  $0, 1, 2, \dots$ , is said to be a Poisson random variable with parameter  $\lambda > 0$  if  $P(i) = P(X = i) = e^{-\lambda} \frac{\lambda^i}{i!}$ ,  $i = 0, 1, 2, \dots$ . Note that  $\sum_{i=0}^{\infty} P(i) = e^{-\lambda} \sum_{i=0}^{\infty} \frac{\lambda^i}{i!} = e^{-\lambda} e^{\lambda} = 1$ .

The Bell polynomials  $Bel_n(x)$ , ( $n \geq 0$ ), are known to be connected with the Poisson distribution. More precisely,  $Bel_n(\lambda)$  can be expressed in terms of the moments of Poisson random variable  $x$  with parameter  $\lambda > 0$  as

$$Bel_n(\lambda) = E[X^n], \quad (n \in \mathbb{N}).$$

Let  $X$  be a Poisson random variable with parameter  $\lambda > 0$ . Then we observe that

$$\begin{aligned}
E[e^{t(X+r\lambda)}] &= \sum_{n=0}^{\infty} E[(X+r\lambda)^n] \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left( \sum_{x=0}^{\infty} (x+r\lambda)^n \frac{\lambda^x}{x!} e^{-\lambda} \right) \frac{t^n}{n!} \\
&= e^{-\lambda} \sum_{x=0}^{\infty} \left( \sum_{n=0}^{\infty} (x+r\lambda)^n \frac{t^n}{n!} \right) \frac{\lambda^x}{x!} \tag{3.1} \\
&= e^{-\lambda} \sum_{x=0}^{\infty} e^{(x+r\lambda)t} \frac{\lambda^x}{x!} = e^{rt\lambda-\lambda} \sum_{x=0}^{\infty} e^{xt} \frac{\lambda^x}{x!} \\
&= e^{\lambda(e^t-1+rt)} = \sum_{n=0}^{\infty} Bel_{n,r}(\lambda) \frac{t^n}{n!}.
\end{aligned}$$

Thus, by (3.1), we see that the extended Bell polynomials are expressed in terms of the moments of Poisson random variable  $X$  with parameter  $\lambda > 0$  as follows:

$$E[(X+r\lambda)^n] = Bel_{n,r}(\lambda), \tag{3.2}$$

where  $n \in \mathbb{N}$  and  $r \in \mathbb{R}$ . By binomial theorem, we get

$$(X+r\lambda)^n = \sum_{l=0}^n \binom{n}{l} r^l \lambda^l X^{n-l}. \tag{3.3}$$

Thus, by (3.3), we get

$$\begin{aligned}
Bel_{n,r}(\lambda) &= E[(X+r\lambda)^n] = \sum_{l=0}^n \binom{n}{l} r^l \lambda^l E[X^{n-l}] \\
&= \sum_{l=0}^n \binom{n}{l} r^l \lambda^l Bel_{n-l}(\lambda).
\end{aligned} \tag{3.4}$$

From (2.1) and (3.1), we note that

$$\begin{aligned}
\sum_{n=0}^{\infty} E[(X+r\lambda)^n] \frac{t^n}{n!} &= e^{\lambda(e^t-1+rt)} \\
&= \sum_{m=0}^{\infty} \lambda^m \frac{1}{m!} (e^t-1+rt)^m = \sum_{m=0}^{\infty} \lambda^m \sum_{n=m}^{\infty} S_{2,r}(n,m) \frac{t^n}{n!} \tag{3.5} \\
&= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \lambda^m S_{2,r}(n,m) \right) \frac{t^n}{n!}.
\end{aligned}$$

Thus, by comparing the coefficients on both sides of (3.5), we get

$$E[(X + r\lambda)^n] = \sum_{m=0}^n \lambda^m S_{2,r}(n, m) = Bel_{n,r}(\lambda), \tag{3.6}$$

where  $n \in \mathbb{N} \cup \{0\}$  and  $X$  is a Poisson random variable with parameter  $\lambda > 0$ .

Now, we observe that

$$\begin{aligned} e^{tx} E[e^{t(X+r\lambda)}] &= \left( \sum_{l=0}^{\infty} \frac{x^l}{l!} t^l \right) \left( \sum_{m=0}^{\infty} E[(X + r\lambda)^m] \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} x^{n-m} E[(X + r\lambda)^m] \right) \frac{t^n}{n!}. \end{aligned} \tag{3.7}$$

On the other hand,

$$\begin{aligned} e^{tx} E[e^{t(X+r\lambda)}] &= e^{\lambda(e^t-1+rt)} e^{xt} \\ &= \sum_{k=0}^{\infty} \lambda^k \frac{1}{k!} (e^t - 1 + rt)^k e^{xt} \\ &= \sum_{k=0}^{\infty} \lambda^k \sum_{n=k}^{\infty} S_{2,r}(n, k|x) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \lambda^k S_{2,r}(n, k|x) \right) \frac{t^n}{n!}. \end{aligned} \tag{3.8}$$

Thus, by (3.7) and (3.8), we get

$$\sum_{m=0}^n \binom{n}{m} x^{n-m} E[(X + r\lambda)^m] = \sum_{k=0}^n \lambda^k S_{2,r}(n, k|x), \tag{3.9}$$

where  $n, k \geq 0$  and  $X$  is Poisson random variable with parameter  $\lambda > 0$ .

The (3.9) is equivalent to

$$\begin{aligned} \sum_{m=0}^n \binom{n}{m} x^{n-m} Bel_{m,r}(\lambda) \\ = \sum_{k=0}^n \lambda^k S_{2,r}(n, k|x), \text{ where } n \geq 0, r \in \mathbb{R}. \end{aligned} \tag{3.10}$$

### References

1. M. Abramowitz, I. A. Stegun, *Handbook of mathematical functions with formulas, graphs, and mathematical tables*, National Bureau of Standards Applied Mathematical Series, 55 For sale by the Superintendent of Documents, U.S. Government Printing Office, Washington, D.C. **1964** xiv+1046 pp.
2. N. P. Cakec, V. Gradimir, V. Milovanovic, *On generalized Stirling numbers and polynomials*, Math. Balkanica, **18** (2004), 241-248.

3. L. Carlitz, *Generalized Stirling and related numbers*, Riv. Mat. Univ. Parma (4) **4** (1978), 79-99.
4. L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51-88.
5. G. Dattoli, B. Germano, M. R. Martinelli, P. E. Ricci, *Touchard like polynomials and generalized Stirling numbers*, Appl. Math. Comput. **218** (2012), no. 12, 6661-6665.
6. Y. He, *Summation formulae of products of the Apostol-Bernoulli and Apostol-Euler polynomials*, Ramanujan J. **43** (2017), no. 2, 447-464.
7. D. S. Kim, T. Kim, G.-W. Jang, *Some identities of partially degenerate Touchard polynomials arising from differential equations*, Adv. Stud. Contemp. Math. (Kyungshang) **27** (2017), no. 2, 243-251.
8. D. S. Kim, T. Kim, *On degenerate Bell numbers and polynomials*, Rev. R. Acad. Cienc. Exactas Fis Nat. Ser. A Math. RACSAM **111** (2017), no. 2, 435-446.
9. D. S. Kim, T. Kim, *Some identities of Bell polynomials*, Sci. China Math. **58** (2015), no. 10, 2095-2104.
10. T. Kim, D. S. Kim, *On  $\lambda$ -Bell polynomials associated with umbral calculus*, Russ. J. Math. Phys. **24** (2017), no. 1, 69-78.
11. A. K. Kwaśniewski, *Lucky 13-th exercises on Stirling-like numbers and Dobinski-like formulas*, Proc. Jangjeon Math. Soc. **11** (2008), no. 2, 137-144.
12. A. K. Kwaśniewski, *On  $\psi$ -umbral extensions of Stirling numbers and Dobinski-like formulas* Adv. Stud. Contemp. Math (Kyungshang) **12** (2006), no. 1, 73-100.
13. J.-W. Park, *A note on the square possible sign pattern matrices* Adv. Stud. Contemp. Math (Kyungshang) **22** (2012), no.4, 481-485.
14. N. Privault, *Generalized Bell polynomials and the combinatorics of Poisson central moments*, Electron. J. Combin. **18** (2011), no. 1, paper 54, 10 pp.
15. S. M. Ross, *Introduction to Probability models*, Elsevier, 9th ed., **2007**.
16. Y. Simsek, *Identities associated with generalized Stirling type numbers and Eulerian type polynomials*, Math. Comput. Appl. **18** (2013), no. 3, 251-263.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* tkkim@kw.ac.kr

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA

*E-mail address:* dskim@sogang.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* gwjang@kw.ac.kr